REACCIONES QUIMICAS
AJUSTAR ECUACIONES QUIMICAS
QUIMICA ESO

Ajustar las siguientes reacciones quimicas:

1Hy +1Cly - 2 HCI

1 NayS + 2 HCI— 2 NaCl + 1 H,S

6 HCI + 2 Al . 2 AICIz+ 3 Ho

1 C3Hg + 50, — 3 CO5 + 4 Hy0

1 CgH1206+6 05 — 6 CO+ 6 Hy O

4 Cq,H3011 +490, —. 48 CO, + 46 Hy O
4 NH3+7 05 — 4NO, + 6 H,0

2Mg+10, - 2MgO

Ejercicio Anterior | indice

REACCIONES QUIMICAS
AJUSTAR ECUACIONES QUIMICAS
QUIMICA ESO

Ajustar las siguientes reacciones quimicas:
2H,+10; - 2H50
2 Na +1 HSO,4 —~ 1 NazSO,4 + 1 Hyp
1 Ca(OH), + 2 HCI — 1 CaCly+ 2 H;0
2 KCIO3 — 2 KCIl + 3 Oy
1Co2HgO+3 09 -~ 2C0O02+3 H2O
1 N> +3Hs — 2 NHj3
4Fe+3 03 - 2Fey03

2NO+10, - 2NOy
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